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QUESTION 1

Which three options define Enterprise Structures Configurator (ESC)? 

A. It is an interview-based tool that guides through the process of setting up a basic enterprise structure. 

B. The tool creates a structure of divisions, legal entities, business units and reference data sets. 

C. The tool creates a structure of divisions that may then be manipulated by the administrator. 

D. After defining the enterprise structure and the job / position structures, the administrator can review them, make any
necessary changes and then load / rollback the final configuration. 

E. The tool creates a structure of divisions, legal entities, business units and departments. 

Correct Answer: ABD 

 

QUESTION 2

As an HR manager in your organization, you want to categorize the hiring process as part-time hiring and full-time
hiring. Identify the correct statement to meet this requirement. 

A. Create two new actions: hire part-time employee and hire full-time employee. 

B. Create two new action types: hire part-time employee and hire full-time employee. 

C. Create two new action types and associate them with the existing action, Hire. 

D. Create two new action and associate them with the existing action type, Hire an Employee. 

E. Create two new actions and new action reasons and associate them with each other. 

Correct Answer: D 

 

QUESTION 3

An IT company\\'s consulting department based in Bangalore goes for two team outing events every year. 

However, the support department, also based in Bangalore, goes for four team outing events every year. All employees
in these departments go for the respective team outing events. 

How should you define the calendar events? 

A. Use Geographic Hierarchy as the Hierarchy type for the calendar event. 

B. Use Line Manager Hierarchy as the Hierarchy type for the calendar event. 

C. Use Absence Approval Hierarchy as the Hierarchy type for the calendar event. 

D. Use Organization Hierarchy as the Hierarchy type for the calendar event. 
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E. Use Project Manager Hierarchy as the Hierarchy type for the calendar event. 

Correct Answer: D 

 

QUESTION 4

Your organization has decided to implement Position Synchronization for a section of workers. At what levels can you
configure this feature? 

A. Enterprise HCM Information, Division, and Department 

B. Legal Employer, Division, and Business Unit 

C. Enterprise HCM Information and Legal Employer 

D. Legal Employer, Division, and Country 

Correct Answer: A 

 

QUESTION 5

An enterprise operates in a country where contract information is required for employees. 

What type of employment model can the enterprise use? 

A. multiple assignments with contracts 

B. single assignment with contracts 

C. multiple assignments 

D. single assignment 

E. contract assignment 

Correct Answer: B 

 

QUESTION 6

Identify the set enabled objects that are used for partitioning reference data. 

A. department, location, jobs, grades 

B. jobs, grades, salary plan, rates 

C. legal entity, department, division, location 

D. enterprise, legal entity, business unit, position 

Correct Answer: A 
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QUESTION 7

In an organization, a line manager is going on a long vacation and wants all his approval notifications to flow to his
supervisor for approval in his absence. How can he accomplish this task? 

A. A system administrator always has to reassign the approval notification to the supervisor in the line manager\\'s
absence. 

B. The application automatically delegates the approval to his supervisor based on the leave applied for by the line
manager. 

C. He has to configure new approval routing policies. 

D. A Vacation rule can be set under the Preferences section of worklist notification\\'s Human Capital Management
server. 

Correct Answer: D 

 

QUESTION 8

While promoting an employee in the system, it is required that the HR specialist is able to see the name of the next
three jobs the employee can progress to in the list of values contained in the Job field. 

Which setup meets this requirement? 

A. Descriptive flex fields must be defined to hold Progression Job Information. 

B. Benchmark all the jobs in the system. 

C. Progression Job Information must be defined during job creation. 

D. Job Evaluation criteria must be set up during job creation. 

E. Create an appropriate job set. 

Correct Answer: C 

 

QUESTION 9

An employee\\'s job description is "Recruiter" as of 01-Jan-2015. This job was updated in the system to "Consultant" on
01-Feb-2015. The 01-Feb-2015 assignment record is the latest effective dated employment record in the system. On
01- Mar-2015, the HR specialist wants to view this employee\\'s previous employment details and searches for them on
the Person Management page. The HR specialist enters the effective as-of date value as 31-Jan-2015 with the search
keyword "Recruiter" because the employee was working as a recruiter on 31st Jan 2015. The search returns no rows. 

What is causing this? 

A. The Person Management page search does not support Job attribute keywords. 

B. The Update Person Search Keyword process has associated the effective dates with the job attributes in the keyword
record resulting in search discrepancies. 
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C. The Update Person Search keyword process has failed on 31-Jan-2015 but ran successfully the next day. 

D. The Person Management page search does not support date-effective keywords. 

E. The Update Person Search Keyword process has updated the latest effective dated job attribute in the keyword
record. 

F. The Update Person Search Keyword process has failed on 01-Mar-2015 but ran successfully the previous day. 

Correct Answer: E 

 

QUESTION 10

What are three advantages of using Position Synchronization? 

A. If you use Position Synchronization, Manager Self Service cannot be used. 

B. Synchronized attributes will be displayed as read-only in the assignment to ensure the position as the only source of
truth. 

C. For synchronized attributes, any position update will automatically be pushed to the incumbents\\' assignments. 

D. The customer can configure which assignment attributes to synchronize from the position. 

Correct Answer: BCD 

 

QUESTION 11

The Human Resource Representative of the organization is trying to set up the Jobs and Positions for the enterprise. 

What are the three options that the Human Resource Representative should be aware of regarding Jobs and
Positions? 

A. Jobs are shared by Sets and Positions are assigned to Business Units. 

B. Jobs and Positions are shared by Sets. 

C. Department and location can be defined for a Position. 

D. When creating Positions, the grades that are specified for the job become the default grades for the Position. 

Correct Answer: ACD 

 

QUESTION 12

You are part of a new implementation and have the seeded HR Specialist role. You are able to find all the workers in
Person Gallery, but not able to view a single worker on the Person Management page. Identify two reasons for this. 

A. The Person Security Profile in the data role, which is attached to the seeded HR Specialist application role, does not
allow the person access to data. 
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B. The Person Profile is not created for any of the employees in the new instance. 

C. The Refresh Manager Hierarchy process is not run in the instance. 

D. The seeded HR Specialist role does not have access to hire the worker in the instance. 

E. The Public Person Security Profile is set up as View All Workers in the data role, which is attached to the seeded HR
Specialist application role. 

Correct Answer: AD 

 

QUESTION 13

Your customer wants to know how many employees are leaving the organization on their own. Identify the correct
sequence of steps that you need to perform to meet this requirement. 

A. Create a new action > Create a new reason and use it during termination. 

B. Create a new action type > Create a new action > Create a new action reason and use it during termination. 

C. Create a new action reason and associate it with the available action type. Use it during termination. 

D. Create a new action type > Create a new action reason and use it during termination. 

E. Create a new action > Associate it with an existing action type > Create a new action reason and use it during
termination. 

Correct Answer: C 

 

QUESTION 14

You are implementing the Checklist functionality for one of your customers. The customer wants the checklist template
to be allocated to persons automatically. 

What should you do to archive the required functionality? 

A. Managers can automatically allocate checklist templates to the persons whom they manage from Person Gallery. 

B. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile. 

C. Associate the action with the checklist template to allocate the checklist to persons automatically when they
experience the action. 

D. Associate the area of responsibility with the checklist template to allocate the checklist to persons automatically when
they are given the specific area of responsibility. 

E. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event. 

Correct Answer: C 
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QUESTION 15

As an implementation consultant, you have defined multiple grades for each job and position. While defining
employment terms or assignments, users must be able to select a grade only from the list that has been defined for the
job or position. However, all grades are available. 

What is the cause for this? 

A. PER_DEFAULT_GRADE_FROM_JOB_POSITION is set to Yes at user level. 

B. PER_DEFAULT_GRADE_FROM_JOB_POSITION is set to No at site level. 

C. PER_ENFORCE_VALID_GRADES is set to No at site level. 

D. GRADE_PAY_RATE_TYPE is set to No at site level. 

E. PER_ENFORCE_VALID_GRADES is set to Yes at site level. 

Correct Answer: C 
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